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Elasticity of Demand Worksheet
Answer the following questions, showing all of your work.

1. Your firm decreases its price from $22 to $20, and as a result, sales increase from 45 units a month
to 53 units a month. Find the elasticity of demand.
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2. Are customers in (1) elastic or inelastic in their demand? In words, what does this mean?
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3. What is the impact from (1)
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on total revenue? lllustrate how you know this.
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4. Your firm increases its price by 12%
elasticity of demand.
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and as a result, sales fall from 80/week to 73/week. Find the
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5. Are customers in (4) elastic or inelastic in their demand? In words, what does this mean?
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6. What is the impact in total revenue associated with the change in {4)? lllustrate how you know this.
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i 7) A report states that the elasticity of demand for gasoline is .68 and the government wants to

increase the price by 5% using a tax paid by consumers at the pump. How will quantity demanded
change as a result? (HINT: you have to plug in what you know and solve for the numerator)
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8. When imposing a tax (with the goal of generating government revenue), do you want to apply the
tax to a good that is highly elastic or one that is highly inelastic? Explain your logic.
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9. Assume that your firm wants to increase price and generate more revenue. For this to work, does
the firm need consumers who are elastic or who are inelastic? Explain fully.
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10. Assume that your firm wants to decrease price and generate more revenue. For this to work, does
the firm need consumers who are elastic or who are inelastic? Explain fully.
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11. The Bellaire area of Richmond, VA imposes a meals tax of 8% on food consumed at restaurants in
that area. After 6 months, the tax revenue is not as big as anticipated. What might explain this?

it
Consumers ot Bellaire Qve Drice Send i+ A Pevcrore

IS Gt ety



